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STATE LEVEL NATIONAL TALENT SEARCH EXAMINATION, 2015 .

MENTAL ABILITY AND SCHOLASTIC APTITUDE TEST 1
For Class X ;
Time : Mental Ability Test : For General - 45 Minutes, For Disabled (Visually Impaired) - 60 Minutes Full Marks : 50 ! |
Time : Scholastic Aptitude Test (a) Language Comprehension : For General - 45 Minutes, For Disabled (Visually Impaired) - 60 Minutes Full Marks : 40
Time : Scholastic Aptitude Test (b) Other Subjects : For General - 30 Minutes, For Disabled (Visually Impaired) - 120 Minutes Full Marks : 90

Instructions to Candidates
Read the following instructions carefully before you Answer the Questions.
Answers are to be given on a separate OMR Answer-sheet.

1. Please write your Scheme Code. State Code, Year, District Code, Centre Code and Roll No. very clearly (only one
digit in one Block) as given on your Admission Card. Please see that no Block is left unfilled and even zeros
appearing in the Scheme Code, State Code, Year, District Code, Centre Code and Roll No. are correctly transferred
to the appropriate Block on the booklet and on the Answer-sheet. For example, a student of Class X appearing from
'P' Centre,, Scheme Code '2', State Code ‘20", Year '1§" District Code "TT". Centre Code '52' with Roll No. '106',
will make entries in the Block as well as darken the refated circle by a Blue or Black Ball Point Pen as under :-

s‘ém m Year E ccm Roll No.
[2] {[2le]|[als|{{7l7}|L512 1{o]6]
0 |00 |@0 |00 |00 | @00 !
® (00|00 |00 (0O |COO :
© |6 |0 | |00 |00 t
ol RoXo R EoXoR RoXo N ReXo R ROROXC, E
® |00 |0 |00 |00 |00 !
© |00 |0 |G |00 |00 :
O |00 |00 | 0@ |00 |OOO t]
© |00 |0 | |0 |0
® |00 |00 |G |00 |OO6
© |0 |0 |0 |00 |00

For all subsequent purposes your Scheme Code, State Code, Year, District Code, Centre Code and Roll No. shall remain
the same as given on the Admission Card.

2. This test is in two Pars. Part-1 Mental Ability Test consists of 50 Questions and Part-li Scholastic Aptitude Test

comprising (a) Language Comprehension which consists of 40 questions and (b) Other Subjects which consists of 90
Questions. :

All Questions in Part-1 and Part-11 carry | mark each.
Since all Questions are compulsory, do not try to read through the whole Question paper before beginning to Answer it.

Begin with the first Question and keep on trying one Question after another till you finish both the parts.

L

If youdo not know the Answer to any Question, do not spend much time on itand pass on to the next one. Time permitting,
you can come back to the Question which you have left in the first instance and try them again.

o

Blank space has been provided for rough work at the end of cach subject.

8. Remember youhavetodarken tltec-ircleofAnsw;t-gheptby; BlucorBlack Ball Point Pen only; danqmpﬂal.

9, Answer to each Question is to be indicated by darkening, the number of the correct alternative in the Amswer-sheet from
amongst the ones given for the corresponding Question in the question-booklet.

10.  Nowturnto the next page and start Answering thie Questions. ks

N.B.:Do not write on Question-Booklet anything except the Scheme Code, State Code, Year, District CodE,Cenﬂ'eCo&
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Part - I
MENTAL ABILITY TEST
Time : For General - 45 Minutes, For Disabled
(Visually Impaired) - 60 Minutes
Full Marks : 50

N

qar-1
(vt drgar ade)
Y : 9 & fe-45 e, Frosm
sie (F=w gfe @iftm) & fre-60 frre

estions 1-5 In each of the following questions, a
group of letters is given, which are numbered
differently. Below four alternatives are given,
containing combination of these numbers.
Select that combination of numbers which

uestions 6-10 In each of the following questions,

find the figure from the answer-set (i.e. 1,2.3
and 4) which will continue the series given in
the problem-set (i.e. A, B, C, D and E)
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Questions 11-13 Study the pattern of numbers in the
following questions and select the missing
numbers in the place of question mark (7).
Mark the correct alternative on your answer-
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means + then2i5x35 + j0 % 3 = 3 =9

1) 10" (2) 12

- IfJ means square, x means +,
means + thend 20 + 25 x5 3

=7?

(1) 28

(2) 31

18. If + means x, - means +, X means
. means + then9 + 8 « 8-4x9 =1

)

=
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Questions 20-25 In each of the following questions,
a series of number is given which follow certain
rules. One of the number is missing. Choose the

" missing number from the alternatives given
below and mark it on your answer-sheet as

directed.
sgopal 1 1 ol Roes
3 ' 9 27 81 243
T @t
21, TATT13, 13,21, 2231 54, %
Oy 43 (2) 49
22. 2,5,4,8,6, 11,8, 14, 10, ?
1y 19 Oy 17
23. 2.7, 11,8. 13, 17, 14. 19,23, 7
(1) 30 (25 20
24. 5. 4.15.7,23, 112916331
(1) 24 27 22
25. 9,712,11,14, 13,72, 15
(1) 17 (216

Questions 26-30 In the series given below what will
come in the place of question mark (7).

26. ADF, CFH, EHJ,GIL,?

_Aaf ILN (2) IKM
27. AZBY,?, EVFU, GTHS
(1) CRDK 2y CXDW

28. APGL, CQIM, ERKN,?

455 GSMO

29. ZW3, UR6, PM10, KH15, ?

(1) QTWB

(—"FC21 (2) FC20
30. QIF, S2E, U6D, W24C, ? i
A0  Y120B (2) Z4OB.

- [MAT-4]
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_ueétions 31-34 Choose the correct water-image of

REFLECTION
. (1) EB4ECLION

33. T3P2YS

(2) BEEFECL}OM

estions 35-36 Find the water-image of X from 1,
2, 3 & 4 amongst the given alternatives.

(3) K449CLION

ugH 35-36 i @ fawedt 1L 2. 3@ 4 X § X &

~ the given words/numbers from amongst the el I A |
alternatives.
. ANSWER
(1) VU2ZMEE (2) HM2EV (3) dNM23V (4) IVEMH2
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represents millet. Study the diagram carefully

[MAT-6
Questions 37-41 In the diagram below 137 3641 3 & ® Al ¥ gw W A, B =
circle represents wheat, triangle represents F, ‘AET TG B T PP T R [

sugarcane, rectangle represents rice and square AT B ANEF AT X aw 2 RA W it
FIWE

and match the numbers with the questions given

below.

37. Which area has the cultivation of all the four 37. 9 wE ¥ 91 1R 3 BEd 3 A B 2?2

commodities mentioned ?

-

(1), 3 )5 36 “4) 3
38. Which area gives millet and rice both ? 38. 9 ®WF ¥ a0 iR oEw T AR E 7
A1) 6 )9 (3) 5 (4) 8
39. Which area grows sugarcane and millet 39. #F & ®=E & T | e AN AW R ?
together ?
(1) 14 @8 3) 6 4) 5
40. Which area grows only wheat and rice ? 40. &M § =@ § R A qon aaw o & ? s
(1 6 (2) 8 _(3) 2 (4) 7
41. Which area grows wheatonly 7 41. FF ﬁmwiﬁ#ﬁiﬁwﬁﬁ’r%?
({12 (2) 3 (34 (4) 5

Questions 42-46 In every question a dice has been 957 42-46 N 97 7 OF TR W [V /e Rl
shown in three different faces on which 2 aar =,d9 aredt # wvfar ™ =7 OOl

numbers/letters have been written randomly.

ANYEE AT BB 5 W ARG W 3 o

Carefully study the faces of the dice and answer it |

the questions based on it.

42. Which letter is opposite to letter 'L’ ? 42. R L' P RuRT B8 o ¥

A

& <O

(3? X (G) M (@P

(8) :
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The total of present age of P, Q and R is 90 47. P, Q X R &1 I g F A 90 9§ ¥ | <

- years. Ten years back their age ratio was 1:2:3. g\ii I 1Y W A 1:2:3 97 | Q i T g
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49. The average age of three girls is 35 years. The
ratio of their age is 3:5:7. Find the age of the
youngest one.

{1y, 12 (2) 17

50. 'A' is 16 years elder than 'B'. But 'B's,’-%-—age

is equal to age of 'A’', then what is the

[MAT-8]
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present age of ‘A’ and 'B’". T Y FE ?
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HRI-1I
A Frgar e
: II (37) SN STaemeem
: §FT B R - 45 Bee, Pram 3 R (3aw ofe aftm) - .60 P s : 40

Frder

T 9T & | 9 WINET SURen § Hehe
D Sl 40 99 B A B R 40 3 BN o B ¥ Tl B+ & daw @ ww (R ar o3 @
YT HT I 2N & |

oy fawa orts TH R T | RS I A AN | TS Ho

el 40 : 40 1 (o) 3% 12-14
-qT 2

S 40 40 | (o) s 15-18

I 3 & @ Pt # By aEer $ 9 e il
T A9 | (U) S F B
gt wet H I A st ®

¥eIF 99 F I wden F F g BT M off. @, IR, SW-TF (OMR-Answer Sheet) T & 37 ¥ 1
0% §9 & AN dkas JaT R T, R daw o I AR 2

ge-gfer & g9 & Ru o gdfe R sadt & F w8 fagen 9w s @ F 28 Reew o e O SaE @
TX P T 2 .

PART-II
SCHOLASTIC APTITUDE TEST
Il (a) LANGUAGE COMPREHENSION

e : For General - 45 Minutes, For Disabled (Visually Impaired) - 60 Minutes Full Marks - 40
INSTRUCTIONS

All the guestions of this parl are related to Language Comprehension.

This part contains 40 questions in Hindi Language and 40 questions in English Language. The candidate has to choose and
attempt this test only in one Language i.e. either in Hindi or in English.

z Marks allotted to each
Language Sub Full Marks | No. of questions aasiion Page No.
Hindi 40 40 | (one) 12-14
oF
English 40 40 1 (one) 15-18

Before answering the queslions, read these instructions very carefully.

Each question carries 1 {ong) mark.

Answer to all the questions is essential.

This questions are to be answered on OMR Answer-sheet supplied in the Examination Hall.
. Every question has four alternatives of which only one is correct.

Answer to each question is to be indicated by darkening the number of the correct alternative in the Answer-sheef from
amongst the ones given for the corresponding question in the Test (Question) Booklet.

g9 9 Sac AX oo Frd GTR“T %1 | (Please Turn Over the Page and Start Your Work)
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English ( 3= )
- Questions 1 to 5 Read the passage given below and
- answer the questions that follow. ;

Every eye was fixed at the Little Master, as
Charl Langeveldt walked over to his bowling
mark to bowl him. The Little Master was at the
score of 199. Will history be created today ?
Will they be the witness to the history in
making ? They held their breath as the little
genius (apped the ball and stole a single.
History was made. The first double century in
the limited over cricket was scored. And the
Little Master who did it was none other than
Sachin Tendulkar. He scored exactly 200 not
out against South Africa in Gwalior breaking
the previous highest scoreof 194 held jointly by
Zimbabwean Charles Coventry and Pakistan's
Saeed Anwar.

Little Master here refers to
(1)  Charl Langeveldt
{2 Sachin Tendulkar

E (3)  Charles Coventry

(4) Saced Anwar

History was made because

(1) Tendulkar scored a century
(2) It wasthe highest score

(3) It was the first double century in a one
day match

(4) Langeveldt was bowling
The description is about

(1) abaseball match

(2) aT-20 match

(3) a Test match

(4) aOne day match

Sachin Tendulkar completed his 200 runs by
scoring

¢I) asix
- (2) aboundary
| one run

(4) two runs

5.

[ENG-1]
Where did Tendulkar score 200 runs ?

(1)  South Africa
£2)

(3) Pakistan

Gwalior

(4) Zimbabwe

Questions 6-10 Read the passage given below and
answer the questions that follow.

6.

7.

[ 'was born in a middle class Tamil family in the
island town of Rameswaram in the erstwhile
Madras state. My father, Jainulabdeen. had
neither much formal education nor much
wealth, in ‘spite”of these disadvantages. he
possessed great innate wisdom and a firm
generosity of spirit. He had an ideal help in my
mother, Ashiamma. I do not recall the exact
number of people she fed everyday, but [ am
quite certain that more outsiders ate with us
than all the members of our own family put
together. I was one of many children - a short
boy with rather undistinguished looks, born to
tall and handsome parents. We lived in our
ancestral house, which was built in the middle
of the nineteenth century. My austere father
used to avoid all inessential comforts and
luxuries. However, all necessities were
provided for, in terms of food, medicine or
clothes. In fact, I would say mine was a very
secure childhood, both materially and
emotionally.

The narrator was born in a/an
(1)  Upper class Oriya family
e i

(3)  Middle class Gujarati family

Middle class Tamil family

(4)  Lower class Bengali family
Jainulabdeen was:

(1) very misﬁir__ij:vl _
e extremely gr_mndgx’ i

(3)  highly educated

(4)  always ready to give things freely

(13)




8. Anancestral house is
(1) The house made by the owner
(» The house inherited from forefathers
(3) The house of father-in-law .
(4) A fairly large pucca house
9. The narrator's childhood was secure because
(1) He had all comforts at his disposal
(2) His father was very influential
_{3) He had all support that he needed
(4)  He enjoyed all support and had no anxiety.
10. Ashiamma
(1) did not like her husband's attitude
(2) loved to be idle .
(3) was not very helpful
(4) supported her husband in his generosity

Questions 11-12 The following five sentences come
from a paragraph. The first and the last
sentences are given. Choose the order in which
the three sentences (PQR) should appear to
complete the paragraph.

11. §; It is easy to tell the world that film
production in India is quantitatively second
only to Hollywood.

Ss Or, are we just plain ashamed of our films ?
P But can the same be said of its quality ?

Q s it solely because India offers a potential
market for her own products ?

R Why are our films not shown abroad ?

Choose from the options given below
N PRQ 2) QPR

(3) PQR (4) RQP

12. S; Unity and universality must belong to any

[ENG-2]

culture that is true and vital

Ss Not one of them is separately culture, but
collectively they constitute the expression
of life which we describe as culture.

P It is always a complex of many strands of
varying importance and vitality

Q There is no single character or mark which
can be regarded as the essence Or
distinctive feature of culture

R Now culture is a concept which cannot be
simply or unitarily defined

Choose from the options given below
(D) PQR (2) QRP
(3) RPQ (4) RQP

Questions 13-22 Choose the word which best fills -
the blank in the sentences from the four options
given.

| = SRR T will not let you rise in life.
1) Tldleness (2) Taste :
(3) Readiness (4) Happiness
14. Did you........ the sweet dish ?
(1) test ' (-27/ taste
(3) threaten (4) liked
15. Having failed in the examination, he was in
B ae s nae mood
) 'penmsive (2) happy
(3) glad (4) delighted
16. Ididn'tgeta........... sleep last night. Jfﬁ
(1) light (2) heavy i
g[ﬁs sound (4) peace

x r"’ C
Pl




"".,.' Ankita was found to........... the required
4 qualifications for the job.

(1) disclose ~4{2) possess

(3) acquire (4) contain

18. The New Delhi bound Rajdhani Express
e} with an accident.

(1) fell (2) hit
(3) crashed -(45/ met

. 9. Meena has just left and if you want to...........
her up, you will have to drive right now.

\ysee (2) witness
) catch © (4) get
20. The chairman has agreed in
i suggestions.

(1) theory (2) principle
(3) view Jﬁ{ account
-1. Columbus............ America
' (1) invented (2) reported
(3) discovered  (4) divulged

. Everyone laughed at him to see him in such a

.......... garment.
(1) lose Q.)/ loose
(3) close (4) lost

phrases / idioms
Better half
3 (1) abig share \{1{ wife
(3) mother (4) sister
To call in question
1 (1) ask question (2)
(37 to doubt (4)
5. To hold good
‘ \,(4)/10 be applicable to
(2) to feel good
(3) to hold tightly
(4) to be fixed

to praise

call to question

[ENG-3]
Questions 26-30 In the following passage there are
some blanks with numbers. Fill in the blanks by

selecting the most appropriate word for each blank
from given options of each number,

When Della 26 home her intoxication 27 way a
little to prudence and reason. She got out her
curling irons and lighted the gas and went to
work repairing the 28 made by 29 added to
love. Which is always a 30 task, dear friends -
a mammoth task.

26. (1) goes (2) comes
{3) reached (4) saw

27. (1) gives (2) takes
(3) gave (A)/ took

28. ‘(y( ravages (2) tasks
(3) achievements (4) jobs

29. (1) cruelty (2) generosity

(3) heartlessness (4  skilfulness
30. (1) bad (2)
(3) treacherous  (4f

Questions 31-33 Select the word which means the
opposite of the given word

tremendous

tricky

31. Adversity

(1) Advertisement (2) Achievement

(3) Hardship 4" Prosperity
32. Cajole
_,_,UJ harass (2) persuade
(3) entice (4) allure
33. Foe
(1) enemy (2) rival
3y friend (4) fatterer

Questions 34-36 Select the word which means
nearly the same as the given word.

34. Amend
W rectify (2) satisfy
(3) ratify (4) spoil

(7
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35. Yearn
(1) long (2) short
2 hate (4) love
36. Bashful
(1) outspoken (2) talkative
(3) shy (4) coward

Questions 37-40 In each of the following sentences
you will find a blank. Fill in the blanks from the
given alternatives.

37. Hehada............ in the accident
A) closesave ° (2) close shave
(3) cleansave (4) clean shave

(2)
(3)
4)

eat a humble pie

eat a sweet pie
eat a sweet dish

eat sour soup

39. Bhavani is trying to
daughter's habits

........

; 92{ bring about

[ENG-4]
38. They had to........... in the last election.

(1) bring down
(3) bring _in (4) bring uﬁ.
40. Itis always wise to save money fora
M)  summer day Q{ spring day
(3) rainy day (4)  winter day

a change in her

For Rough Work Only
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l. The figure given below shows the displacement
; plotted against time for a particle. In which
region is the force acting on the particle zero ?

Physics ( R )

[PHY-1]
1. B w9 3 R ©@ §vg @ Y R Raromr
¥ W EE gem w Yar R 3 Rew oW &

gat?
; e

(Y AB

A person standing on the floor of a lift drops a
coin. The coin reaches the floor of ihe lift in a
time t, if the lift is stationary and in time t, if its
moving uniformly. Then

() 1=t

@) <t

(3) >t

_(,,4’)!‘1“‘2 or t;>1, depending on whether
\ the lift is going up or down.

3. A boy is rotating in a circular motion, a stone of
mass 500 gm by using a string of length 50 cm
with a speed 10 cm/s. What will be the work
done by the force applied by the boy.

(1) 0.0I=J
(3) 10n)

(2) nlJ
(4 Zero

A planet of volume V and mass m has
gravitational acceleration g on its surface. If it
expands to 8 times its original volume, what
will be the acceleration due to gravity.

(1) 4g (2) 2¢g

31 gl4 (4) g/8

A convex lens forms a real image of a point
object placed on its principal axis. If the upper
half of the lens is cut

o

: i ‘J)'{ The image will be shifted downward
o

) (2) The image will be shifted upward

(3) The intensity of the image will decrease
(4) None of the above

(2) BC (3)

CD (4) DE

2. 5 IRH R 3 ol @ ¥ oo v R R
ﬁtﬁl!tﬂimﬂmtﬁ!mﬁﬂﬂﬁﬁtl
PoTmtaT R amI MA@ @t A
lgﬁﬂmmtlllqdlzﬂmmt?

(1) 1=t

2) y<H

3) y>4

(@) 4y <A, >1, T PR Fa d B e aw
B AT @ A AR A ek

3. & WSH B TN, Pmel wEr 500 3 & w50
A Tl AT TR W W E
TR T 10843 ¢ D TP I "R W B
™ F4 & 9 F41 2w ?

(1) 0.01nJ (2) nJ
3) 10=] (4) Zero

4 G o e Ve i m e, $ e W

Todd @ F A g B 1 SR TEH ST 8 T°n

& T T T T W OTeE @ # e ?
(1) 4g (2) 2¢g
(3) g/ (4) g/8

5. % o9 o9 Rl axg @ gl sl a9 § o
SR T F o Rew Fe R om A -

(1) sffeg R Rews s |
(2) wiefe= IR Rews s |
©(3) ufefe= @t disar Fw S

@) ¥ B F T8
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6. A screen is placed at a distance 40 cm away
from an illuminated object. A converging lens
if placed between the source and screen and
attempt is made to form an image on screen. If
no position could be found. The focal length of
the lens

\_(I{ must be less than 10 cm
(2) must be greater than 20 cm
ggf must not be greater than 20 cm
(4) must not be less than 10 cm

7. In a nuclear reaction given below the total
energy released is 355 kev and the binding
energy of electron is 35 kev. The energy E of
the neutrino will be

131 0
Cs +
55 =
/

f
(1) E< 355kev  ~(2) E=355kev
(3) E > 355kev J@) None of the above

8. Inthe circuit given below what will be the ratio

of current flowing in the upper arm ‘R' and
lower arm 'R’

[PHY-

6. ThUR A 40 AA. P | AW a5y wh B
AR & GIHET A9 TS 99 W@ TE AR
TR W IR W AREE T W@ A

£
(1) f< 10cm
(2) f>20cm
(3) f<20cm

4) f> 10cm

7. R RA W afee b ¥ g9 sabl st 35
kev a1 SAE @ SE9-GOT 35 kev = |
Ifeta o1 =it & St ER a9

131
V (neutrino)
54

(1) E < 355 kev (2) E=355kev
(3) E>355kev  (4) S0 A A 3 7
§. R M Pm ¥ RY T Rua ¥ ow 2 R 3|
gfedg ‘R' & 741 Fraa R & 'R & waika o/ &
YA F41 8 ?

Q)

(1) 2/3

9. What will be the equivalent resistance between
points A and B in the given circuit.

(1) (5/3)R

(2) 5/3 &

3/2 (4) 1/5

9. RA 7 gieddi 3 Hhew A g A @ B 3 dl=
Heegea gy 4 8w ?

(8/3)R “4) 3R

(22)




'10. A rectangular coil of copper wire is rotated in a
- magnetic field. The direction of the induced
current changes once in each

(1) revolution

(2) two revolutions

(3)/ half revolution

(4) one fourth of a revolution

11. Neglecting the rotation of the earth, if suddenly
the attractive power of the earth drops to Zero,
a man standing on the earth will

W fly up.

(2) slide along the surface

ove out tangentially
(4) stand unaffected

« A high energy electron enters into a strong
magnetic field which is perpendicular to its

velocity plane. In which path is it expected to
move ?

[PHY-3]
10. T SFEOIR T F coil G9H & ¥ g o Y@
1 A9 3 ar F e arr 1 Rew e B -
(1) |/ @& =T &
() | A T\ A

(3) I TR &
(4) tFH 9 et §
I @& 3 g1 @ R B ek @ g R

TFT I YA A T A w9 W G2 AR § W
0 gl ?

() S| AR /1
(2) ®a® W fEwE
(3) e @ F o A
(4) Rafd w 2 gwmm 74 |

12. @ 3= 3 & o 99 8 ¥ & 4 Rw 3
T T W A @ L | IED T W AR
Frafefta & & B axe @ @ ?

(1) 2 (3) (4)
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13.

14.

18.

16.

17.

Chemistry ( T0@)

If Z is a compressibility factor, van der waals

equation at low pressure can be writtenas :

) z-1+£!'i,
@) Z= -P—_?
_B) z_a+i';—I
@) Z=1-3pp

The metal that can be obtained by electrolysis of
an aqueous solution of its salts is :

(1) Zn (2) Cr

(3) Mg L(y/(',‘a
Which of the following oxide of nitrogen is
ionic ?

(1) NO &) N0

(3) N,Os (4) NO,

The equivalent conductance of Nacl at
concentration C and at infinite dilution are A,
and A, respectively. The correct relationship
between i_and L. is given by

(Where the constant B is positive)
(1) A, =1, -BJIC
() A=) +BIC
(3) A, =iy +BC
(4) A\.=A,-BC

On heating an aliphatic primary amine with
chloroform and ethanolic potassium hydroxide
the organic compound formed is :

(1) analkyl cyanide
‘(2) an alkyl isocyanide
(3) analkanol

(4) analkanediol

13.

14.

15.

-a
s\

17.

[CHE-1]
R Z EE TE B @ T I W AEE
wder B fvar o w5 ¥
Pb
(1) Z=14ae
_—
@ Z=1-g%
RT
@) Z=1hss
= a
@ b o
ag A AW T F o Rt 3 wmRE
(R rowe) & Wi & N e
(1) Zn 2) Cr
(3) Mg 4) Ca
= ¥ T A B STHARS F AT A B 7
(1) NO (2) NyOy
(3) N,Os (4) NO,

a9 C W AN W agm W Nacl Rea &
SR THal B A, T A TFQ T T S9!
Wy fovan o qa € ? ;

(B w% ¥ 3% ¥)
(1) A= Ae-BIC
@) A =Ayx +BJC

(3) A=Ay +BC

@) A, =Ag-BC
WdRs mad oW B wRwr IR wrifE
iPRn TRIEEES & @9 WA A W

s A B ¥ |
(1) & e RamEs
Q) & Y AEAREEES
(3) & Y
4) @ TmdaesEA
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:osea R

inDNA?
~ (1) Cytosine
(3) Quinoline

& Thymine
A) Adenine

a reducing agent :
(@) HyOp + 2H™ + 2e = 2H,0
(b) HyO,-2e— 0, + 2H*
(¢) Hy0, + 2¢ = 2 (OH)
(&) Hy0; +20H -2¢ ~ 0, + 2H,0
(1) (a),(c) 3r (b),(d)
. (3) ), (b) @) (c). (d)
20. The IUPAC name of CgH<CN is
(1) Phenyl Cyanide
AJ) Phenylacetonitrile
(3) Benzene Cyanide
(4) Benzonirrile

21. For the non-stoichiomerric reaction 2A +B —
C+D, the following kinetic data were obtained
in three separate experiments, all at 298K

Initial Initial rate of funciion
centration (A) Concentration (B) of C (mol L s")
0.1M 0.1 M I2x103
0.1 M 0.2M 12::03
- 02M 0.1 M 24x10
- The rate of the formation of C is
(1) Lo KIAIBR (2) "“ = K[A]
8)i & _ga1Bl (@) —= K [A)2[B)

‘Which of the following is knowu as Freon ?
(1) CCLF, (2) CHCly
(3) CHyF, 4) CF,

23, Which of the following isa B+ emitter :

J,Pf 49 ca 2 8B
. 5
o (—3) 28028% @) g;Kr

'18. Which one of the following bases is not present

19. In which of the following reactions H,0, acts as

[CHE-2]
18. =1 &l ¥ /@ 9 «5 DNA & 78 ray oy 7
(1) "Edm 2 o=
(3) Refem 4) AR

19. hqﬁaﬂﬁm#nzozmmmﬂm
FAE?
(@ Hy0, + 2H" + 2e - 2H,0
(b) H,0,-2e —0, + 2H*
(€) Hy0; + 2e = 2(OH)
(d) H0, + 20H - 2e = O, + 2H,0
(1) (@), (c) 2) (), ()
(3) (a).(b) 4 (), (d)
20. CgHsCN %1 IUPAC 7 &
(1) 7w aERS
2) tEE RS
(3) I amEEs
(4) I
21. wwtwm RFr sffen 2A+B ~ C+D & 99

T9% TR # 298K W R R iR, s R
o : '

e arifee C T arfes &
HFE (A) a7 (B)  (qw L l)
0.1 M 0.1 M 12110
0.1 M 0.2 M !.211(!}
- 02M 0.1 M 24x10
i 3 e C 3 = =t P #v

(1) L= K[AIBR ) L =KiAl

3) % =K[A][B] (4) g—f= K (AP [B]
22. ¥ A B9 AT WY A T P

(1) CChLF, (2) CHCl4
(4) CF4

2. ¥ & 3 e b (P )

(3) CH,F,

1) 49 Ca @ ga
zos oo i
(3} 82 Pb (4) 36Kr :

(25)
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Biology ( sfia-fasw)

24. Major food crops of the world belong to the family

25.

26.

27.

28.

29.

(1) Solanaceae

/(21) Leguminosae

‘ (3) Cruciferae (Brassicaceae)
(4) Graminaceae

WBC and RBCs are found in human blood in the
ratio of :

\L}}’lzﬁﬂ'ﬂ

(4) 1:60000

(1) 1:60
(3) 1:6000

The common component of nuclear membrane
of organelles like Mitochondria, Endoplasmic-
reticulum and Nucleus is-

\Q/Glycr:}prolein

(4) Lipoprotein

(1) Glycolipid
(3) Nucleoprotein

DNA (Deoxyribonucleic acid) and RNA
(Ribonucleic acid) are found in cells of all
living beings. Its amount in the cells are -

/(I} RNA is more than DNA
(2) DNA is more ;han RNA
(3) RNA and DNA is equal in amount
(4) None of the above

During rainy season, wooden doors are difficult
to open or close. It is due to -

‘(}{ Osmosis

(4) Dehydration

(1) Plasmolysis
(3) Imbibition
Haemoglobin is a protein. It is an example of -
(j-( Primary structure ofprotem
b B
(2) Secondary struetiire ofpru_t;m
(3) Tertiaty structure of protein:

(4) Quaternary structure of protein

4. &9 ‘g

25.

26.

27.

28.

[BIO-1]

' (GRh) % R A o o wEm oy
it amﬁ'%
(1) S
@ ¥
(3) FERN (el
(4) AE

wmﬁﬁﬁ@mmaﬁmﬁwmﬁn
TN AT

(1) 1:60 (@) 1:600

(3) 1:6000 (4) 1:60000
AR, G R a dww aR
FIRGGN B o Rl ¥ IR SR a5 -

(1) wasfiE (2) =EH O

(3) g M (4) for o

il # PREet ¥ dore. (B

) T ARG (TEErghes o) oo ¥y §

FIHIA F TR HET
(1) RO B T S Y
(2) TN P AR FROAC F T
(3) N.THQ. da 31.09.0. THEE
4) #1397

4 Rg § FH D @S B G qw 2 Q@ |
FEAS Bl § | T JA BT -

(1) @FRaEtE () e
(3) FEERIE 4) e

29. AN TE NEH RR Fa § -

(1) S i e, §e
(2) ﬁh‘ﬁrﬂﬁtfﬁﬁwaﬁw
(3) mﬂﬂqﬁmm
) ﬁﬂ?{ﬂ%ﬁ@tﬁﬂﬁm
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. The capsule present in Bacteria is mainly made
i of

(1) Glycolipids and proteins

(2) Phospholipids and proteins

g{ Poly saccharide and proteins
-\@?{1}1 of above

1. 'Coir of Commerce’ comes from which part of

the 'coconut' -
1

(1) Epicarp (2) Pericarp

ﬁ)/ Endocarp

(3) Mesocarp

normal respiration is known as
Vital capacity  (2) Vital volume
(3) Ideal volume (4) Tidal volume

3. Our atmosphere is made of many layers. The layer

. - = -
. nearest to the surface o e carth is known as

(1) Geosphere (2) Stratosphere

A \gﬂ/ﬁopmpherc (4) none of above

4. A sexual reproduction in plants which produces
seed without fertilization is known as -

: w/Parlhenogctncsis
(2) Sporulation
(3) Apomixis
-
{Q’@ege{ative reproduction

3. Which part of the human brain is more
eveloped than other mammals -

1 (1) Cerebellum \g/Cerehrum

(3) Sensorylobes (4) none of the above

The volume of air we breathe in and out during

30.

31.

32.

33.

34.

3s.

[BIO-2]
wiage & P WO S [H 15

(1) e aar fée
(2) wrewiiE T M
(3) g¥HT T WA
(4) IUTH FH

T & & & 9 A § AWRE T (FRR)
e B ® -

(1) wdiend (2) AW
(3) Pt @) e
M 99 afFa & a| A a9 B 3 &9 o

Y FT ARF-HEH B | T A B R 9T

BT arell dst @ 4T Feg E ?
(1) SToTENT &an (2) "°MER EET
(3) eyl ImEa (4) =HE sFET
B g AUSH 3G §ael § & o & | g B
4Udd & §HT U 99 9§98 -
(1) gHs&
(3) =9 Hza

(2) wHaM 5w
@ #K A&

et & sferfm o= & R Frivew 3 dei-aen 3
R sgeh 2 arel g -

(1) ST
(2) wrEE
(3) o

(4) adi g9

 wAUE @ g § AT 3 aRass @ qdins
foepftia =mT -

(1) Sra=s ) wRa=
3) H¥dhe (vfas) @) BE A A&

(27)
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Mathematics ( =i )

6 Inan AP, 5 times the 5% term is equal to 8

times the 8" term, then its 13" term is

(1) 0 (2) -1
3) -12 (4) -.13
87 1rx+- 1L - 5, then
’ X
1 -5 1
x3-5x2+x+?‘--? +"x— o
(1) -5 2) 0
3) 5 (4) 10

38. The surface area of a cylindrical pipe, open at
both ends is 628 sq.m. The difference between
its radius and length is I5m, the length being
larger. If the pipe was closed at one end, the
- amount of water that it can hold is, 3

(1) 500 xcu.m (2) 525ncu.m
(3) 550 rcu.m (4) None of these

89 Ifa+b+c=0anda? + b2 +.c2 = k@?-be)

BERk=. ..
(1) o0 (2) 1
3) 2 (4) 3

Given 5A9 + 3B7 + 2C8 = 1114, then the

~ maximum value of C is

(1) 5 2) 7
(3) 8 (4) None of these

:Two fair die are thrown. The probability the
- sum of the numbers appearing is 6 is

=k 3
a0 3
3) = 6 @) 3 6

2. The ratio, in which the line segment joining

(3,-4) and (-5.6) is divided by the x-axis is

-' (1) 3:2

(2 2:3
g0 1:2 @ 2:1
"O"L
G 2O e o> i o
: L 4Y g S
' Pl N

36.

37.

38.

39.

40.

41.

42,

[MTH-1]

@I TSI RASTN ST @D 8 I & TR
¢ 139 ... @

() 0 2) -1

(3) -12 4) -13
e x +%=5,?ﬂ

1 5§ 1 '

I3-57€2+X+—x§--—xf+—x—= .........

(1 -5 2 o .

3) 5 4) 10
wmm,ﬁﬂmgw%,ﬂwm

628 3 M. ¥ 1 T B wF w7 o 15 o
&, ol o, B & @ ¥ ) o wey @ o o 2

¥ F Rar s o sud oFh o mEnL et |
(1) 500 7 &= i, (2) 525ng9 .
(3) 550 & 9 . 4) ™ J 9 74

llﬁ{a+b+c=0QEfa2+b2+cz=k(az-hc)
k= ...

(1) 0 @ 1

3) 2 “4) 3

qﬁ5A9+3B?+2CS=Ill4.EﬁC§iTqﬁﬁqm
B.......
(1 5 2 7
3) 8 @ THAME A
ﬂgﬁ@ﬁ%{%lﬁmﬂmﬁaﬁﬂﬁ
F 3 6 3, 59 T miwar & ?
1 5
(1) ? ) _5-
1 ‘ 5
(3) _3€ 1) E

(3.- 4) @ (-5,6) 3 B aw W@ @vE x-am 3
a..... % S § R & ¥

(1) 3:2 (2) 2:3
(3) 1:2 4) 2:1
% : :
1. be- FG“L (-‘1
¥ T} C’ ra(
4P




43.

44.

If the co-ordinate of two opposite vertices of a
square are (a, b) and (b, a) then the area of the

square is
(1) (a+b)? (2) 2(a+b)?
(3) (a-b)? (4) 2(a-b)?

If Sinx + Sin?x = 1 the Cos8x + 2 Cosbx +

(1) 0 2 -1
(3) 2 4) 1

45,18 Sin%y 1+Cosy " Siny
1+Cosy Siny 1-Cosy e
(1 0 2) 1
(3) Siny (4) Cosy

46. A tower is 100 J3 m. high. The angle of

47.

48.

49.

elevation of its top from a point 100 m. away
from its footis.......

" (600
(3) 300

(2) 45°
_l[_l
(4) 22 5

In a A PRS, ZPRS = 120°. A point Q is taken
on PR such that PQ = QS and QR = RS then

(2) 30°
(3) 45° (4) 129

A chord of a circle of radius 7 cm. subtends an
angle of 90° at its centre. The ratio of areas of
smaller and larger segment is

(1}.2:7 (2)
(3) 1:11

1:10
(4) None of these

The length of a ladder is exactly equal to the
height of the wall it is leaning against. If the
lower end of the ladder is kept on a bench of
height 3 m. and the bench is kept 9 m. away
from the wall, the upper end of the ladder
coincides with the top of the wall. The height of
the wall is :

(1) 11m. () 12m.
3) 15m. (4) 18m.

43.

45.

47.

49.

B T e

[MTH-2]
@ Ft % Rl det 3 Fams (a, b) @ (b, 2) & &
i & HF%A e

(1) (a+b)? (2) 2a+b)?

3) (@b} 4) 2a-by

IR Sinx + Sin®x = 1 a Cos®x + 2 Cosbx +

(1 o (2) -1
(3) 2 4 1

y= Sin?y 1+Cosy _ Siny
1+Cosy = - Siny 1-Cosy
(1) 0 2)41
(3) Siny (4) Cosy

@ PFIT 10003 0. & 3 1 B 3 aw @ 100 4.
0 « foug g @ Few 3 S &1 a9 A
o

(1) 60°
(3) 30° (4) 2'2—2—

A PRS ® /PRS = 120°. PR ® fig Q
R f@r m B PQ = QS ™ QR = RS &

(2) 45°
lll

(1) 15° 2) 30°
(3) 45° @) 12°
7.4, B o g9 # & A FTE B W 0° FH
V7 TR & | AY gOEs U4 AN g9Es & el #
1y 27 (2) 1:10
(3) 1:11 (4) 34 7 8 &
% O A d9E 99 dan F 98 F TN 8, s
TR ERHAE I WA S @ A ™R @&

o A 3H. IRt AT IR dod &,
@ 9dl w@ deR & 0 o @ 9N ¥ | R #) g B

(1) 11m. (2)

(3) 15m. (4)

B A




Esy.

L - 52 .

- 53,

- 50. A cone of height 7 cm. and base radius 3 cm. is

carved from a rectangular block of wood of
dimensions 10 cm. x § cm. x 2 cm. The
percentage of wood wasted is

(2) 46%

(1) 34%
(3) 54% (4) 66%
. The mean of n numbers X, Xy, ....... , X, is M.

If x, is replaced by 'a’, the new mean is

n n
(3) M '(4) None of these

Which of the following is correct for the given
data 55, 38, 69, 24,897

(1) median=mode (2) mean=mode

(3) mean=median (4) None of these
The mean of n numbers is M. If 1 is added to the
firs: number, 2 is added to the second number,
......... n is added to the n'" number then the
new mean is

M + n+1 9 s
(1Y) M > (. ) M 5
3) M+n (4) None of these

A bag contains 5 red and some blue balls. If the
probability of drawing a blue ball is three times
the probability of drawing a red ball then the
number of blue balls in the bag is

[MTH-3]
50. 7 34, 3t F wd 3 R.A. R B aw @ gig
#, 10 89 x 5 4. x 2 &4 Rt o T @

gER IHe ¥, TeHT e T | q&iE g s
1 fwem B

(1) 34% @) 46%
(3) 54% @) 66%
51. n GERT Xy, Xp, .ece.e. JX WA ME AR x, A
SFTE 'a' 1 R S @ @ A g
) nM--zl-i-a @ M—xnl+a
@ BTN ) AR

52. Ru ariwet 55, 38, 69, 24, 89 F fou, e & 39 w9
&7

(1) it =g
(3) WA =wiieaE

(2) FA=TgF
4) T8 & 3 &

3. nmﬁtﬂwutruﬁﬁﬁﬁmmsﬂam,
Tl Hen A 2 e Y, oo @ ndf g A n e

n+l n
(n M+ > (2) M+7
(3) M+n (4) @ a = T

54. 30 ¥ 59 Td gV A R ' AR o A R
# fem ® wfem, @ Tw T @ FEes @
wiE @9 T o8, @ & A Al A @ "en

P ss.

(1) 10 0 b
tanx 3 Sinx
Secx - 1 1 +CUSK ..........
(1) 2tanx (2) 2 Sinx
(3) 6 COSX | (4) 2 Cﬁtx A
\ﬁ ; LD”’

¢ it
4

(1) 10 2y 12
3) 15 @) 8
tanx Sinx

3 el Tt e
(1) 2tanx (2) 2Sinx
(3) 6 Cosx @) 2 Cox

(31
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History ( 3twm)

- 56. Hargovind Khurana, the great scientist was

bornon :
(1) 1January 1922
.,(26 9 January 1922
(3) 3January 1922
(4) 7 January 1922

57. M. S. Swaminathan, the great scientist was

awarded PADMA SRI by the Govt. of India in :
(2) 1966
(4) 1968

_(.i) 1965
(3) 1967

','8. The Jalianwala Bagh is located at

‘(f‘) Lahore (2) Multan

(3) Amritsar (4) Jalandhar

59. Rashtriya Swayamsevak Sangh (RSS) was

1
L

founded in :
(1) 1925 -2) 1926
(3) 1927 (4) 1928

60. Vallabhbhai Patel was born in Nadiad, Gujarat

on:
\_gl-)‘/ 31 October 1875
(2) 30 October 1876
(3) 30 October 1877 \"

(4) 30 October 1878

61. The original name of Vinoba Bhave was

(1) Vijay Narain Bhave

(2) Vijay Narhari Bhave
Minoba Narhari Bhave
(4) Vinayak Narhari Bhave

. Socialist Party was founded in :

(1) 1933

@{1935

(2) 1934
(4) 1936

56.

59.

61.

[HIS-1]
T D TR G B A gon o
(1) 19Wad 1922
(2) 9sFad 1922
(3) 3wad 1922
(4) 79l 1922

Ter] WG LG, @EAET B R @R 2
qEel # Iy & T -
(1) 1965 () 1966
(3) 1967 (4) 1968
Rwiar S e st ¥ ?
(1) W®R 2) Fwad
(3) oTgEER (4) S
T EeF WY (SR.E.E.) @ g
(1) 1925 @) 1926
(3) 1927 4) 1928
Wﬂﬂﬁﬁﬂﬁ:&ﬂﬁ,wﬂmgmm:
(1) 31 AT 1875
(2) 30 TR 1876
(3) 30 ST 1877
(4) 30 T 1878
e 1 1 arfi® T e
(1) fev@ ArEer w9
(2) ReE TR 9@
(3) -ﬁiiﬁi ARET A
(4) R TR W
FHSEE! & T R
(1) 1933 (2) 1934
(3) 1935 4) 1936

(33)




63. Jeevak, the first surgeon, was of :
(1) Varanasi ) Takshila
(3)l Rajgir (4) Pataliputra
64. Agra City was founded by :
(1) Allaudin Khilji
Sikandar Lodi
(3) Akbar
(4) Shahjahan
65. What is Tigris ?
(1) King A2} Place
(3) Mountain (4) River

[HIS-2]

63. %, v i fefrws o ¢
(1) aReR F (2) dftwn
(3) ER (@) i &
64. P e wAfud Rear
(1) s=eeq et g
(2) Rt @& 2@
(3) HI T
(4) METRN BRI
65. & 7 & 7
(1) T (2) =™
(3) v (4) =&

For Rough Work Only

(e el H1d 3 fra)

(34)




6.

Geography ( e )
66. W(A):m%wﬁatﬁazq‘(aﬁm"%mwﬁ

Assertion (A) : Indian rivers on the western
Coast do not form delta though they bring along
lot of sediments.

Reason (R) : Tidal waves wash away sediments
from the western coast.

Select the correct option from the given
alternatives -

(1) Both (A) and (R) are true and (R)
explains (A)

(2) Both (A) and (R) are true but (R) does
not explains (A)

(3) (A)istrue and (R) is false
(4) (A) is false and (R) is true

. Assertion (A) : Jute is considered a golden fibre

in India.

Reason (R) : Jute in its appearance is golden in
colour

Select the correct option from the given
alternatives -

(1) Both (A) and (R) are true and (R)
explains (A)

(2) Both (A) and (R) are true but (R) does
not explains (A)

(3) (A)is true and (R) is false
(4) (A) is false and (R) is true

8. Assertion (A) : Tank irrigation is most common

and prevalent means of irrigation in peninsular
India.

Reason (R) : The terrain of the peninsular
plateau is Very uneven with many natural
depressions.

Select the correct option from the given
alternatives -

(1) Both (A) and (R) are true and (R)
explains (A)

(2) Both (A) and (R) are true but (R) does
not explains (A)

(3) (A)istrue and (R) is false
(4) (A)isfalse and (R) is true

[GEO-1]

mtmmﬁmmwﬁawwm
e ¥

aém):wﬁamazwamaﬁwﬁ-wm
o Rt ¥

(1) (A) & (R) a1 58 ¥ o (R), (A)
AT T &

) (A) T (R) 1 wd ¥ Bd (R), (A) &
T T Far &

() (A) ¥ ® a1 (R) o ¥ |
(4) (A) T 8 a4 (R) &1 &

67. W(A)':%ﬁwqﬁgﬂmmﬁﬁmﬂﬂ%
2

a%(R):ﬁ;zﬁhn%aﬁﬂgﬂs@rWaﬂa’lﬁlh
ﬁﬁwﬁw&fﬁ%ﬁ#zwmgmaﬁ-

(D) (A) 1 (R) aFF w8 ¢ ao (R), (A) §
& F B |

@ AT R) A T ¥ Ry R®), A) &
A T A ¥ |

() (A) w1 & a1 (R) g |
(4) (A) 0 2 71 (R) 58 &

ﬁs.faaR(A):mmqmaﬁwamﬂréwm

TEa g\ T

ﬁ%(k):mﬁr@wqmﬁmmﬂm%w
ﬁﬁﬁ‘”ﬁﬁﬁ?’f@?i

Rﬁwﬁﬁﬁaﬁiﬁr%mwaﬁ-

M @) & ®) Fi & ¥ qo r), (A) 3
ARAT T § |

@) (A) T (R) aF wd ¥ ®d (R), (A) F&

mqﬂﬂﬂ?ﬂ%l
G A w7 ®) ™k
(4) (A) @ ® o (R) w6 &

(35)
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69. Assertion (A) : Delhi has a high annual range of
-temperature.

Reason (R) : Delhi is located in the subtropical
region.

Select the correct option from the given
alternatives -

(1) Both (A) and (R) are true and (R)
explains (A)

(2) Both (A) and (R) are true but (R) does
not explains (A)

(3) (A)istrue and (R) is false
(4) (A)is false and (R) is true
70. The river Mahanadi passes from which state

(A) Karnataka (B) Andhra Pradesh
(C) Odisha (D) Tamil Nadi
71. India is deficient in which of the following
minerals -
(1) Mica .(2) Bauxite
(3) Iron (4) Lead

72. The source of best quality Pashmina wool is -
\_{6 Angora sheep from Himachal Pradesh

(2) Chamba goats from Himachal Pradesh
(3) Gurej sheep fromJ & K
(4) Bikaner sheep from Rajasthan

73. The main problem 6f Green Revolution is-
(1) Regional imbalance
(2) inequality in the production of crop
(3) pollution of the environment
(4) all of the above

74. Royal Bengal Tiger is found ih which of the
following forest region -

(1) Gir forest \.(Z}’ Sundarban
(3)' Vrindavan (4) Dandkaranya

75. The coastal plain south of river Tapti till
Southern Goa is known as - ;

(1) Plain of Gujrat
(2) Malabar coastal plain
(3’{ Konkan coastal plain

(4) Coromandal coastal plain

[GEO-2]
69. fEw (A) : Rt 71 @i AR 3gq e &

& (R) : Rt IuoT Feam & Rag ¥
R o Rt ¥ & PRl O 1 g X -

(1) (A) W(R)ﬁaﬁrtmm),ma&
o HEE |

) (A) @ (R) 34t @@ € g R), (A) N
e 8 s ® |

(3) (A) 98 & @1 (R) @ & |
4) (A) W%wm}_aﬁ%u
70. TeRd 1 FE q A ToA & 7

(A) FAcH (B) I WoWl

(C) FAfssm (D) df g
71. wﬁﬁm@ﬁaamﬁ%—

(1) 39 (2) RS

(3) @@ (4 s

72. IO wiET 39 aifa F 84§ -
(1) feamam R & ST #2
(2) feuraq RW # T FHRA
(3) FHR N T 9
(4) T i GEEd W
73. eRa @i & wefa TE a9 € -
(1) TR STEgw
(2) FHARURA § FEEE

(3) wEERT 9 3HAE
(4) 390 |4
74.mamamﬁﬂﬁlﬁaaﬁﬁﬁaaﬂmﬁ |
qrEn S 2 - |
(1) X (2 g
(3) d&Ed 4) =P
75. Hﬁﬁﬁaﬁwﬁmwﬁrmﬁmﬂm

8- ;
(l)gﬁ'{mwﬁaﬁ i 3 =
@) waER @ o

3) Wﬁlﬂfﬁﬂﬁ‘

(4) PR F e HeE

(36)



_ . Civies ( TRmrer) [CIV-1]
%. Who is the chairman of the Drafting Committee 76 wRdtg wham T Al e W D e B
28 of the Indian Constitution ? g7
(1) Dr. Rajendra Prasad (1) %o 9% T
,_gz’; Dr. Bhim Rao Ambedkar (2) %o @ T3y
(3) Jawaharlal Nehru . (3) vEmet 9 YT
: (4) Raja Gopalachari (4) oM MG
Who has the power of Judicial review in the 77. AR §feE 3 et i JAiddsT B afa i
! Indian Constitution ? R o B 7 i
J only Supreme Court (1) ¥ I=5aw gAY F
(2) only High Court (2) 39 = TR 9
(3) President @) TSR ‘
5 d:oth Supreme Court and High Court (4) =W o9 T UEEg T }
78. Who made the Indian Constitution ? 78. WA HRYF F Y 9w a1 ? i
m__d) Constituent Assembly (1) wfRus g1
(2) British Parliament - (2) ffRew 9wz
(3) Indian Parliament (3) 9RdH duz
(4) Governor General (4) TR FE
- Which institution is the example of Direct 9. wia § Frfoled & 3 F9 & dwr v YR #
Democracy in India ? WE@ L ?
(1) Gram Sabha (1) = 997
A2?) Gram Panchayat (2) ™ vag
(3) Nagar Panchayat (3) TR d=mgg
(4) District Panchayat (4) P 9y
- Which constitutional amendment bill has 80. B9 HRwM dei RAdas ¥ Awaw 3 ThEw A
amended the tenure of Lok Sabha from 6 years 6% q 5 3% G e -
to 5 years
(1) 42'nd @) 44'my ey Gr ats
(3) 45'th (4) None of these (3) 45% (4) Ivgwa A A

The - decision regarding eligibility criteria 81. Wiwdl B raar Gad Rt T frofe 7T @ -

controversy of the members of the parliament is
taken by - (1) FafE s
P \_H’{Election Commission

(2) T=faa gew
(2) Related Chamber , :
(3) Lok Sabha Speaker (@) wwe ST
(4) The President after taking advice from @) FeteT smr & 5o AT TSRy

Electoral Commission

(37)
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[CIV-2]
82. The Prime Minister of India is 82. WG F TUFEAT -
(1) Elected by the Lok Sabha (1) aaw zr Feffa o b
(2) Elected by the Parliament (2) w8z ZRT Pl o d
\(.’H/ Elected by the majority party in the Lok (3) S & T o % T o £
Sy (4) I F FQ G 0w &
(4) Elected by the people
83. The President of India isa - ssmans t.'
\,ﬂ{ Nominal Head ¢ () T
(2) Real Head (@) Wk T
(3) Political Head (3) TRl S
(4) Nominal and Constitutional Head i (4) TR F Haf S
84. 'Sons of the Soil’ doctrine related to 84. ‘ofr & Rreia’ HeRm &
(1) Regionalism (1) ABEEe §
(2) Casteism (2) =ivEE §
; Wtommunalism (3) EmEREEE &
(4) None of the above (4) T & I8 T
85. Democracy is a system of government in which ~ 85. W3 ¥ 9w+ Zaew ¥, Pt oftm afR
the final power rests with T a6t &
(1) The mob (N ﬁ[g |
The people (2) o o
(3) The politicians (3) TeERRE ¥
(4) The civil servants (4) e F

For Rough Work Only
(P o1l w1 3 o)

(38)
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86. ‘ﬁatfonal Development Council (NDC) was set

-

up in the year :
(1) 1952 (2) 2001
(3) 1956 A 1991

- 87. The currency of England is :

MDollar

(3) Rubal

(2) Pound
(4) Dinar

83 Mahatma Gandhi National Rural Employment
= Guarantee Scheme was started by :

(1) /Government of Bihar
Government of India

(3) Government of Maharashtra

(4) Government of Kerala

89 Globalisation policy was initiated by the
: Government of India in the year :

(1) 1947 (2) 1977
g/wsn (4) 2001

- 90. Government of India enacted Consumer
Protection Act in the year :

(1) 1951

"’ - f 1986

(2) 1981

(4) 1991

Economics ( 3rhwer)

[ECO-1]

86. TS Rww oRww (réid) & e gw oA ¥ gaw
q :

(1) 1952 (2) 2001
(3) 1956 @) 1991

87. FRS A gm ¥ : | E
(1) W ) s |
@) s @ R

88, wET MH LW WM W MA R &
oo FeR A -

(1) R s@r

&k

(2) WRg 5K
(3) HERIg "R
(4) I @R

89. WRA €WK 7 3T H Ay 3 goond 5w ad A
o

(1) 1947 @) 1977

|
i
<
(4) 2001 %,
90. W FER I IUAFA T P 39 H{ ¥ W
o o -

(1) 1951
(3) 1986

(3) 1991

(2) 1981
4) 1991
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